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QUESTION 1

A service fa?ade component can be used to abstract the part of a service architecture that has negative coupling
potential.

A. True
B. False

Correct Answer: A

QUESTION 2
Which of the following statements is true?

A. The Legacy Wrapper pattern should not be applied in conjunction with the Process Centralization pattern because
legacy systems do not possess enough autonomy to be effectively composed.

B. The Messaging Metadata pattern can be applied to supplement messages with metadata that can be used for
tracking purposes when also applying the Reliable Messaging pattern.

C. The Protocol Bridging pattern is often used with the Legacy Wrapper pattern as a means of performing data model
transformation between service inventory-wide data models created through the application of the Schema
Centralization pattern and the underlying proprietary legacy format.

D. All of these statements are true.

Correct Answer: B

QUESTION 3

The Process Centralization pattern:

A. physically centralizes business process logic into a single location

B. logically centralizes business process logic into a separate service layer
C. physically centralizes task services into an enterprise service bus

D. logically centralizes task services into an enterprise service bus

Correct Answer: A

QUESTION 4
A service architecture is most comparable in scope to a traditional:

A. component architecture
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B. integration architecture
C. application architecture
D. None of the above.

Correct Answer: A

QUESTION 5

Protocol bridging features are a common part of enterprise service bus products and can be provided through the use of
adapters.

A. True
B. False

Correct Answer: A
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